
Name

Two-step word problem

Created By: freeprintableforkids.com

Ally bought 4 packets of pens and 5 packets of pencils. There were 10 pencils in each packet 
and 6 pens in each packet. How many more pencils she bought than pens?

❖ Answer:

Ally bought _____ more pencils than pens.

Mike scored 30 points in basketball games. Adam scored 5 points less than Mike.Alex scored 7 
more points than Adam. How many points did Alex score?

❖ Answer:

Alex scored ____ points in basketball game.

There are 9 boys and 12 girls in a class. The teacher needs to divide these students into 
teams. Each team must have the same number of students in it. How many teams does the 
teacher need to make so that there cannot be any students left? 
❖ Answer:

Teacher need to make _____ teams.  


